RFLHFH R FALHBLEE FHEBRER

# [

i & X F nNF &
FEATR—TB 9 & 2 £ # H BAR 9 & 2
FEATR—TB 10 & 4 £ # OH BAR 10 & 4
FEATR—TB 10 & 5| £ # H BAR 10 & 5
FEATR—TB 10 % 6| £ # H BAR 10 & 3
FEATR—TB 1 & 3| £ # H BAR 1 & 3
FEATR—TB 1" & 4 £ # OH BAR 1" % 4
FEATR—TB 1 & 10| £ #H # BAR 1" & 6
FEATR—TB 12 & 4 £ # OH BAR 12 & 4
FEATR—TB 12 & 5| £ # H BAR 12 & 3
FEATR—TB 13 & 4 £ # OH BAR 13 & 4
FEATR—TB 13 & 6| £ # H BAR 13 & 6
FEATR—TB 13 & 9 £ # H BAR 13 & 9
BEATR—TH 13 & 10| £ # # BAR 3% 10
BEATR—TH 13 & 11| £ #H H# BAR 13 & 11
BEATR—TH 98 & 3| £ #H H PARtl| 98 & 3
BEATR—TH 100 # 2| £ # H PARtl| 100 # 2
BEATR—TH 101 & 2| £ # H PARtl 101 & 2
BEATR—TH 474 & 4 £ # H Ha 474 & 4
BEATR—TH 474 & 6| £ # #H Ha 474 & 6
BEATR—TH 474 & | £ # # Ha 474 & 7
BATR—TH 476 & 18| L #H H# Ha 476 & 18
BEATR—TH 476 & 21| £ #H H# Ha 476 & 21
BEATR—TH 478 & 2| £ # H Ha 478 & 2
BEATR—TH 480 & 3| £ #H H =YHF 480 & 3
BEATR—TH 480 & | £ # # =YHF 480 & 7
BEATR—THB 480 & 9 £ #H H =YHF 480 & 9
BEATR—TH 481 & 2| £ # H =YHF 481 & 2
BEATR—THE 482 & 2| £ # H =YHF 482 & 2
BEATR—TH 483 & 2| £ # H =YHF 483 & 2
BEATR—TH 485 & 3| £ #H H =YHF 485 & 3
BATR—TH 485 & 4 £ # H =YHF 485 & 4
BEATR—THE 486 & 2| £ # H =YHF 486 & 2
BEATR—THE 486 & 4 £ # H =YHF 486 & 4
BEATR—TH 486 & 5| £ # # =YHF 486 & 5
BEATR—THE 486 & 6| £ # H =ZYHF 486 & 6
BEATR—THE 486 & | £ # # =YHF 486 & 7
BEATR—TH 486 & 8| £ # H =YHF 486 & 8
BEATR—TH 486 & 9| £ #H H =YHF 486 & 9




RFLHFH R FALHBLEE FHEBRER

# [

i & X F nNoF &
FEATR—TB 486 &F 11| £ #1 #H =YHF 486 & 11
FEATR—TB 486 &F 12| £ #r H =YHF 486 & 3
FEATR—TB 487 & 2| £ # H =YHF 487 & 2
FEATR—TB 487 & | £ # # =YHF 487 & 7
BEATR—THB 487 & 8| £ # H =YHF 487 & 8
BEATR—THE 488 & 1| £ % # =YHF 488 & 1
BEATR—THE 488 & 3| £ #H H =YHF 488 & 3
BEATR—THE 680 & 2| £ # H F e 680 & 2
BEATR—TH 680 & 10| £ # # F e 680 & 10




